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Abstract:In this note we give some formulas related to the numbers 

3F2 1,
1-n

2
, -

n

2
;

3

2
,

1

2
- n; 4 , n = 0, 1, 2, 3, ... , where 3F2 is the generalized  hypergeometric function.

1. Introduction

Define Fn by

Fn = 3F2 1,
1 - n

2
, -

n

2
;

3

2
,

1

2
- n ; 4 , n = 0, 1, 2, 3, ... (1)

where 3F2 is the generalized hypergeometric function.

In this note we give some formulas related to (1).

Remark 1: The generalized hypergeometric function pFq is defined by

pFq a1, ..., ap; b1, ..., bq; z = 
k=0

∞ (a1)k ... (ap)k

b1k ... bqk

zk

k !
(2)

where (a)k is the Pochhammer symbol.

Remark 2: 2F1 is the Gauss hypergeometric function.

Remark 3: (a)0 = 1 , (a)k = a (a + 1) ... (a + k - 1) , a ∈ℂ , k ∈ℕ .

Remark 4: The Appell (AppellF1 = F1) hypergeometric function is defined by

F1a, b1, b2; c; x, y = 
m=0

∞


n=0

∞ (a)m+n b1m b2n

m ! n ! (c)m+n

xm yn (3)

Remark 5: The number Pi is defined by

π = 4 
n=0

∞ (-1)n

2 n + 1
(4)

Remark 6: The arctan function is defined by

tan-1(x) = 
n=0

∞ (-1)n x2 n+1

2 n + 1
, x < 1 (5)

2. Formulas

Entry 1. for n = 0, 1, 2, 3, ..., we have
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F2 n = 3F2 1,
1

2
- n, -n ;

3

2
,

1

2
- 2 n ; 4 (6)

F2 n+1 = 3F2 1, -
1

2
- n, -n ;

3

2
, -

1

2
- 2 n ; 4 (7)

F2 n = 5n 
k=0

n (-n)k

k !

4

5

k

3F2 -k,
1

2
- n, 1;

3

2
,

1

2
- 2 n ; -1 (8)

F2 n+1 = 5n 
k=0

n (-n)k

k !

4

5

k

3F2 -k, -
1

2
- n, 1;

3

2
, -

1

2
- 2 n ; -1 (9)

F2 n = (-3)n 
k=0

n (-n)k

k !

4

3

k

3F2 -k,
1

2
- n, 1;

3

2
,

1

2
- 2 n ; 1 (10)

F2 n+1 = (-3)n 
k=0

n (-n)k

k !

4

3

k

3F2 -k, -
1

2
- n, 1;

3

2
, -

1

2
- 2 n ; 1 (11)

Fn =
x

x - 4

k=0

∞ 4

4 - x

k

3F2 -k,
1 - n

2
, -

n

2
;

3

2
,

1

2
- n ; x , x < 0 ∨ x > 8 (12)

F2 n =
4n (-n)n 

1
2
- nn

 3
2
n 

1
2
- 2 nn


k=0

n - 1
2
- nk 

1
2
- nk

 1
2
k (1)k 4k

(13)

F2 n+1 =
4n (-n)n -

1
2
- nn

 3
2
n -

1
2
- 2 nn


k=0

n - 1
2
- nk 

3
2
+ nk

 3
2
k (1)k 4k

(14)

F2 n =
4n (-n)n 

1
2
- nn

 3
2
n 

1
2
- 2 nn

2F1
1

2
+ n, -

1

2
- n ;

1

2
;

1

4
-
- 1

2
- nn+1 

1
2
+ nn+1

 1
2
n+1 (1)n+1 4n+1

3F2
1

2
, 1, 2 n +

3

2
; n + 2, n +

3

2
;

1

4
(15)

F2 n+1 =

4n (-n)n -
1
2
- nn

 3
2
n -

1
2
- 2 nn

2F1 -
1

2
- n,

3

2
+ n ;

3

2
;

1

4
-
- 1

2
- nn+1 

3
2
+ nn+1

 3
2
n+1 (1)n+1 4n+1

3F2
1

2
, 1, 2 n +

5

2
; n + 2, n +

5

2
;

1

4

(16)

F2 n =
1 + i 3

2

2 n

3F2 -2 n,
1

2
, -

1

2
- 2 n ;

3

2
,

1

2
- 2 n ;

1 + i 3

2
, i = -1 (17)

Entry 2. for n = 0, 1, 2, 3, ... , we have

Fn =
2 n

n

-1

k=0

[n/2] (-1)k 24 k

2 k + 1
2 n - 2 k

n - k

n - k

k

2 k

k

-1
(18)

Entry 3.

{Fn : n ≥ 0} = 1, 1,
1

9
, -

3

5
, -

97

175
,

13

189
,

985

1617
,

245

429
, ... (19)

Fn = 3F2 1,
1 - n

2
, -

n

2
;

3

2
,

1

2
- n ; 4 =

1

2


0

1 1

1 - x
2F1 -

n

2
,

1 - n

2
;

1

2
- n ; 4 x ⅆx (20)

Entry 4. for -∞ < x < 1

2
 , we have
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tan-1(x) = 
n=0

∞

(-1)n 2-2 n 2 n

n

x2 + x 4 + x2

2

n+1

Fn (21)

Entry 5.

π = 6 
n=0

∞

(-1)n 2-2 n 2 n

n

13 + 1

6

n+1

Fn (22)

π = 6×
n=0

∞

2-2 n 2 n

n

13 - 1

6

n+1

Fn (23)

π = 8 
n=0

∞

(-1)n 2-2 n 2 n

n

 2 - 1
2

13 + 8 2 + 1

2

n+1

Fn (24)

π = 8×
n=0

∞

2-2 n 2 n

n

 2 - 1
2

13 + 8 2 - 1

2

n+1

Fn (25)

π = 3×
n=0

∞

2-2 n 2 n

n

21 - 3

2

n+1

Fn (26)

π = 4×
n=0

∞

2-2 n 2 n

n

5 - 1

2

n+1

Fn (27)

Entry 6. for x < 1

2
 , we have

tan-1(x) = x 4 + x2 
n=0

∞

(-1)n 2-3 n-1 x2 n 2 n

n
Fn 

k=0

[n/2] n + 1
2 k + 1

1 + 4 x-2k
(28)

π = 13 
n=0

∞

(-1)n 24-n 2 n

n
Fn 

k=0

[n/2] n + 1
2 k + 1

13k (29)

3. Catalan’s constant

The Catalan’s constant is defined by

G = 
n=0

∞ (-1)n

(2 n + 1)2 (30)

Entry 7.

G = 
n=0

∞

(-1)n 2-3 n-1 2 n

n
Fn 

k=9

n+1 n + 1
k

(-1)k+1 2k

2 n - k + 2
2F1 -

k

2
, n + 1 -

k

2
; n + 2 -

k

2
; -

1

4
(31)

G = 
n=0

∞

(-1)n 2-3 n-1 2 n

n
Fn 

k=9

n+1 n + 1
k

(-1)k+1 5k/2

2 n - k + 2
2F1 -

k

2
, 1; n + 2 -

k

2
;

1

5
(32)
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G =
2

5

n=0

∞

(-1)n 10-n 2 n

n
Fn 

k=9

n+1 n + 1
k

(-1)k+1 5k/2

2 n - k + 2
2F1 n + 1 -

k

2
, n + 2 ; n + 2 -

k

2
;

1

5
(33)

G =
5

4

n=0

∞

(-1)n 2-3 n-1 2 n

n
Fn 

k=9

n+1 n + 1
k

(-1)k+1 5k/2

2 n - k + 2
2F1 1, n + 2 ; n + 2 -

k

2
; -

1

4
(34)

Entry 8. for i = -1  , we have

G = 
n=0

∞

(-1)n
2-2 n

n + 1
2 n

n
Fn AppellF1 n + 1, -

n + 1

2
, -

n + 1

2
; n + 2 ;

2 i

15 + i
, -

2 i

15 - i
(35)

where AppellF1 is the Appell hypergeometric function.
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